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* Select the option that 1s related to the third word in the same way as the second

word 1s related to the first word.

o 3 Toohed T T3 L ST A1) ITo¢ 9 ST Toh Gaifed & o9 H e SR
Geferd 2

® Africa : Algeria : : South America : ?

A.Canada
B. Mexico
C. Germany |
D. Argentina
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® In a code language, if RAFT 1s written as 180 and DON 1is written as 99, then
how will SHOWER be written in the same language?

® Teh e W91 H, i< RAFT = 180 3T DON 3hl 99 ToT@T SITell =, 1 SET WisT §
SHOWER ! ¥ fer@r Sieem?

A.225
B. 165
C. 528
D.448
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n a certain code language, PROUD 1s written as WY JPK. How wi U

be written in that language?

* Te fAf3a i€ 9T H, PROUD @I WYJPK foraT STt 81 36 9T § GUILTY 9
foraT St?

NPDSAF
. BPBOGT
. BBPGOT
. NDPASF

o O W ”




~ §SC CHSL (10+2)

C1CC € combination ol 1SS tnat whnen sequentially placcd 1n

€ 01anks O

the given letter series will complete the series.

* & ok I8 AT KT = hL ST &1 715 ST& AT o Tieh T H shiteh &9 9 @
ST 9% T shi T ATl

*pl_pp_sp_lsppl_p

A.slps
B.1slp
C.plsp

D.sppl
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C1CC C Ooption 1 winic € NUIMOCTS Snarc uic same reiationsnip as tna

shared by the given pair of numbers.

* 39 Tohed T T Y ISTOH HEATT I8t Helel 9Tl Shid! & ST STl o QU U S

AAKSIEIRE IR
® 185:199

A. 174 : 187
B. 139: 152
C. 126 : 134
D. 89 : 106




~ §SC CHSL (10+2)

rom tne given optons Cnoosc tinc onc 1 wiic € SCl O NUMDCTS dO NO

follow the same Logic/Rule/Relation as the numbers given in below set.

o [OU TTT forehicdl H € I <[ ISTEH Sl o1 g SHT o/ [Haw/Hse shl dTef Tl
AT & ST fob == fou o g & <€) 718 gt | gian 2
* (32, 16, 96)

A. (26, 13, 78)
B. (42,21, 126)
C. (36, 18, 108)
D. (22, 11, 68)
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our numbers have been given, out of which three are alike 1n some manner
and one 1s different. Select the number that is different.

* IR HEATU & 715 &, SHH T 1 Toret Tor 8 Teh ST @ 31 Ueh 9 8| S8 T

= R ST I B

nl

A. 217
B. 348
C. 252
D. 231
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* All plots are flats./& i< Rl &l
* All flats are hotels./T A B 2l

) N N A
®* Some hotels are restaurants./$s TlceT L& 2l

® Conclusions:

* 1. Some restaurants are flats./5® &l FI< ol
* II. Some hotels are plots./ e |iIe &l
* [II. No plotis a restaurant./&1g W1E W2 gl ol
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A dr1ver mcreases the spec€d o1 nis venicCle by m/n arter cvery onc nour.

the initial speed of the vehicle was 75 km/h, then what was the average speed of
the vehicle in a journey of 4 hours?

* Weh TTeToh Tcdeh Udh B oh o8 AU dTed <hi i 5 feri/eier st ear 81 3fe ared
RiSTeR Tfd 75 TerHi/seT oft, at 4 =i <hl A | aree <hi 3T i o= eft?

A. 83.75 km/h
B. 82.5 km/h
C. 82km/h

D. 83 km/h
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€ g1ven oplons

ClCC € NUIMDCT I1om among

mark (?) in the following series.

N

N O

al can replace inc quesiion

o {oU U foshedl § U 39 G&AT T <=4
gfeTud sht ek 2|

°*4,5,13,22,86,111,7?

&

St

HiTRad & | 94 g ()

A. 327
B. 237
C. 247
D. 427
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C1CC C option 1 winic € NUMDCTS are rélatcd 1 tnc same way as arc

numbers of the following set.

* 3G farehcd AT T9F ! ST dame 3HY o Heifed § s AfaRad 9e i s
3

® (2194, 1328, 726)

C

A. (1560, 1131, 551)
B. (1406, 962, 390)
C. (1170, 570, 228)
D. (1725, 997, 509) |
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our ICUer-CIusters nave bpecn given, out ol whicC rec arc alike 1mm Some

manner and one 1s different. Select the letter-cluster that is different.

* TR JUI-HE AU T &, FH § i foret Jeri & T S © 3T Teh 197 5 39 3781

EHE 1 =9 LS 19 S

A. CIOU
B. SYDJ

C. KQWC
D. PVBH
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\N1irmala introduced Rahul as the son of the sister of her mother. How 1s
Nirmala related to Rahul?

S

o THHTT 7 UGS skl T STGHT AT <hl ST&H oh I oh &Y H hraT| e, Tga ¥ fohd

Yk e ferd 27

A.Cousin

B. Brother-in-law
C. Maternal uncle
D. Brother
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which two si1gns should be mterchanged to balance the rollowing equation:

o fHToTREr ST 3ht Hdlctd i o fef ot T Tergl ohl SAT9| | SIaaT =Miey?
®* 646 - 19 —-746 +20 x 34 =100

A. % and+

B. X and +
C. —and X
D. — and+
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* Three different positions of the same dice are shown. Select the number that

will be face oppsite to the face haveing 6.
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* In a certain code language, CANDIDATE 1s coded as 846292417 and
ACTION 1s coded as 481936. How will DICTATION be coded 1n that

language?

o Us, AT e YT 3, CANDIDATE Rl 846292417 & ®9 U shifed foram T 2
3T ACTION =Rl 481936 o &9 T hited fohIT 7T 21 39 99T 4 DICTATION i
Y hifed foram ST

A.298242956
| \‘\ B. 493212965
30 ) C. 493212975

D.298141936
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* Four words are given, out of which three are alike in some way and one 1s
different. choose the odd word

e IR vee eI T R, o O i fore) Torm w31 Ueh 376 21 39 STEd Yee

ST < o

A. Priming./HShIAT

B. frenzy./3-Hl& |
C. calm down./3Tid &I ST |
D. provocation./3shHI]
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* Find minimum number of straight lines in figure?

® SThid H Hef Tl shi =[AH AT I hifsTT?

A. 13
B. 17
C.15
D. 19



